X1l

588 38R

4501

FEF Fz5:8 3 Bpggse

M4-5

M4-T

Ma-10
Ma-11
Ma-12
Ma-13

M4a-13
M4-14
Ma-15
Ma-18
Ma-17
Ma-18
M4-18
Ma-20

M5

M7ad

Index By Article Number
Article numbers beginning with “M" start on page XIl.

Description

Knocker, Horsehead
Surface Bolt (Cremaone),
LH or RH

Basket Hook

Baskel Hook, &°

Basket Hook, 12°
Basket Hook, 15"
Basket Hook

Electric Bell Push
Knocker

Door Stop, 47

Door Stop-Dome
Cabinet Pull with

Wood or Machine Screw

Cabinet Pull with

either Screw & Rosetts
Keyhole Escutcheon
Caver Plate, One Toggle
Caver Plate, One Duplex
Cover Plate, One Blank
Lock Extra,

Additional Key with Lock
Lock Extra, KA

Lock Extra,

Additional Key with Lock
Lock Extra, KA

Lock Extra, Additicnal
Master Key with Lock
Lock Extra, Up 1o 308 Differs
Lock Extra,

Up to 1,500 Differs

Lock Extra,

Stronger Spring Installed
Lock Extra,

120 Differs, 1 Master
Lock Extra,

Grand Master, 60 Differs
Lock Extra,

Master or Submaster Key
Lock Extra,

Grand Master Kay

Lock Extra,

Master Kayed or KA

Lock Extra, KA

Lock Extra, Additional Key
Lock Extra, KA

Lock Extra, KA

Lock Extra, Standard Blank
Lock Extra, Master Blank
Lock Exira, KA 450's
Lock Extra,

Additional ey 480's
Waighted Entrance Lock
Foot Scraper

Privacy Mortice Bolt, 1-1/4°

gesseee g2

ea,
aa.

ea,

E228888

£Ees

s B9 Ag22z22 aag

J"‘I"‘I"‘M
TN OG

3 &

58

&

105
105
105
105
105
105
105

105
105
105
105
105
105
105
105

103
81
102

Artg
MTA2
M7AS
M7 A
M7B1
M7B2
M7B3
M7B4

M7C

M7D

MTE
M7F
Ma
Ma
M10
M1

M1z
M3

M14
M15
M18
M17
M18
Mi1g
M20
M21
Mz2
M23
M24
M25
M28
Mz27
Mza
M29
M30
M3
M3z
M3z

M34
M35

Description

Privacy Mortice Bolt, 1-3/8"
Privacy Mortice Bolt. 1-1/2"
Privacy Mortice Bolt. 1-5/8"
Privacy Mortice Balt. 1-3/4"
Privacy Mortice Bolt. 1-7/8"
Privacy Mortice Balt, 2°
Privacy Maortice Balt, 2-1/8"
Privacy Mortice Bolt. 2-1/4"
Privacy Martice Bolt. 2-3/8"
Privacy Mortice Bolt. 2-1/2"
Privacy Mortice Bolt. 2-3/4"
Mortice Lock

Cover Plate, Four Toggle
Mortice Lock

Butt Hingea,

Plain Bearing, 3.5" x 3.5
Butt Hinge,

Plain Bearing, 4" x 4"

Butt Hinge,

Plain Baaring, 4.5 x 4.5"
Thumb Turn Assembly
Door Stop

Door Stop, Floor

Cover Plate, Five Toggle
Access Key for M30

Turn Rose

Turn Rose

Door Stop, 3.25"

Door Bumper

Rirm Catch for Gate Latch
Cylinder Lock Cover
Extension to M14

Accass Key for M7

Rim Catch for Gate Latch
Cover Plate, Six Toggle
Cover Plate, Two Duplex
Thumb Tum Assembly
Extension to M30

Cover Plate, Three Duplex
Butt Hinges.

Plain Bearing, 3" x 3"
Cover Plate,

One Duplex, One Toggle
Cover Plate,

One Duplex, Two Toggle
Cover Plate,

Two Blank Box Mount
Cover Plate,

Three Blank Box Mount
Butt Hinges,

Ball Bearing, 3.5 x 3.5°

Butt Hinges,
Ball Bearing, 4" x 4"

= = B B B & REE0RE2282822¢CR2822888 R R RERLEREERERREREfS

g

102
102
102
102
102
102
102
102
102
102
102

72
85
28

28
28

101
81
81
72

100

100

100
56

a7
21
101
102
58

58
100
100
&8
28

e B8

28
28



